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BC-01

Financial Accounting

IE P RGECIC T

At TYTIcHh T2 (Very Short Questions)
Define Accounting.

ST T aieTi hifre?

Who are the users of accounting information?
TR G o TARTehed| hiF 82

What do you understand by accounting concept?
TRETE ST & 3779 RIT THEAT 272

Explain the meaning of feasibility?

HITHAT T 37 SATsA?

What is accounting period concept?

T AT ST T 22

What are the rules of making journal entries in accounts?
Tl 8 USHEET L o T o 29

What are special purpose subsidiary books?
TorRI e <Al HETeh Tecieh 1 22

Different between sales Book & sales account?

IEERERRERCE RRCINR: R E LRI ER Y

Explain are difference between capital expenditure & Revenue expenditure?

USTTA 55 Tel ST o0 3w STcl13?
What do you mean by accounting principals?

SRET fgdl & 3119 T GHerd 22

“Is it possible to combine two or more transaction is a single in journal?

AT TS B 31 AT 31 AT o 1 o i | forer aeva 72
Explain the difference between trial Balance & Balance Sheet?
qeTIE T forg o TR Samga?

Which Book is known as invoice book?

I ST i sfisteh a1t Rt AT fo=IT SiTar 22

When posting in done in ledger?

WIATETE! § Wl shel sh STt 272
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What is a ledger?

RERCICICRHIRIES

What does the debit Balance of personal account?
SAfRITd W 3T Sfere 9 R ST 82

What is suspense account?

EECURCIIEDI Y

What is compensating error?

itk STt w82

Give one object of a Trial Balance.

qAIE T Ueh 3299 SIdTSd|

What types of errors which do not affect the trial Balance?
o I T hT SARFSAT 2 ST T T I A& T STt ?
When is suspense account opened?

Il ETAT 3he ST ST 82

Give one courses of one sided error.

T T&fa e T Toh R0l S|

What is meant by Rectifying entry?
wenfera fafs & @ smmer 22

What is depriciation?

B T BT 22

Explain two couses of providing depriciation.

BTE T oh &1 T SdTSa?

Give on advantage of fixed installment system?

TS foe Tfar T Toh o STqeTsa?

What is scrap value of an Assets?

qrgfey BT AR T FAT FHgarell &2

How are secret Reserve created?

T e T fmfor S R STa 22

What is Profit and Loss?

AT BT T 82

Explain one difference between Reserve & Provision?
O TS SIS | Teh 31T Sa159?

Explain one difference between Revenue Reserve & capital Reserve.
AT €I U YT Erd H T 3=l TaraA?

Are secret Reserve shown in the Balance sheet?
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1 T Her e feraror § femme S @2

What statement are mainly included in find account?

e @l &7 &9 & H & forewor it 2 82

How will you show the interest on capital in final account.
USft o STt SRl 379 Sfea wral § e e

What is Balance sheet?

fearfar feraor 22

What is the Journal entry will be passed for prepaid insurance premium?
qeiaea st Sifeer st et Tfafs F st 82

What are deferred Revenue expenditure?

TIfiTd ATTd = B 22

What is debtors system of Branch accounts?

ST § ST Ugfef T 22

What do you understand by inter Branch transaction?
ST SFFRR § 31T AT G0 82

“Explain Cash in Transit”?

“rif # Tehg T THATEA?

What do you meant by shadow account?

BT QAT T FIT qHEd 87

What is sectional balancing ledger?

ERiRES S SERCINICR KRR

What is self Balance system of Ledger?

QT SIS sht TTeh T e YOIl T &2

Difference between hire purchase system & installment payment system.
ToRXTaIT SFarTdl fohe YT SToTTet H 7=t Shifsry)

Explain one point of difference between trading account & Profit & Loss account?

STIR WTAT T8 ST BT @I H Tk 3T Taairse?

Write the name of ledger which is kept in sectional balancing system.
T Tt JUTTeAT o6 STl Telt ST et @t sfet ot 1 fetfag)

Give five transaction which will not appear in total Debtors account.
U Ui I o AT Sd1sd e et Senl # =2 for st 2|

What is meant by contra Balance?

Ty 9w & T e 29

What is meant by sale of goods on consignment?

YY1 9T HTeA o fIshar & R ST 22
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A consignment returned goods costing Rs. 8000 to consignor. Pass journal entry.
e ST SoT SRt ST 96t & 8000 U T AT T HIeT aT96 i I T Ifaf® grfto

Which commission is allowed to consignee for bearing the risk of debt realisation?

ST Rt ST forshal hl STTREH o Sact AT ST aTeT SR e shi-Er 82
Give one example of normal loss and abnormal loss.

T BT o STEHT BT 1 a1 iy

What is hire purchase price?

fortran s o T 22

What do you mean by hire purchase system?

FeRTTRIT Sh3T Ugfel & AT I JATI &2

What do you mean by arignment of rights by the hirer?
ToRTTaIT SR ST SRR o TEdTaR § STTIhT T SRR 87

Define Journal

SR EIRIIECEIE I

To whom as 6 is related?

T A 6 foree Heiferd 22

What do you mean by depreciable assets?

TR AR EA TR § T TR 82

What do you mean by Trial Balance? Name three method of trial balance.
IS T ST FIT FHId 22 derde ot o fafert & 7 fafag)

In which book the account are classified?

1T &R H @l ohT AT 1ehLoT fohalT ST 272

What will be written is Vishnu’s account on receiving Rs. 5000 from him.
ooy & ST 5000 TR T B TR 36k @l H AT fora e 22

What do you meant by contingent liabilities?

wiferer rfea & o119 o W 22

What do you understand by fictitious Assets?

i Ewe & o T A 2

What are compound entries?

fafia wfafe wm 82

What is Debit note?

Sfee e FT R

What is meant by marshaling of items of Balance sheet?

feurfer foraor it wei hY shHegaT i T AR 22

What are the similarities between trial Balance and Balance sheet?
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qeTue T g o R Tty 72

What is meant by full dis?

0T STeheleRuT & T ST 82

Write the formula of Depreciation by fixed installment method.
Tt fopea farfer & g 9T o b & ferfa)

What do you meant by scrap value of fixed assets?

woref} wrafeit o STafiTee o § T ST 22

On what principle the valuations of closing stock is done?
HfeH TElcrd i1 et fordr g & febam Sra 22

Name the methods of joint venture account.

TR |TEE @ hl ToITerT o =T sTargdl

TITcHeh T4 (Short Questions)

1 Define the purpose of maintaining subsidiary books.
TR Tk T@ o Ie3dl ohi s
2 Record the following transactions in purchase returns book.
3 ATt TEdek | feTehd e fafag)
2010
June, 5 Returned goods to Ramesh broes. Rs. 500
S S, THIT S ohl AT AT &. 500
June 8, Returned goods to Sohan bros. Rs. 450
S S, igT 5i<9 o 9Tl AT & 450
Juen, 15 Returned goods to Prem & Co. Rs. 700
ST 15 UH U 91 hl HTeT I99 foma ®. 700
3 What are the advantages of keeping ledger?
QT SR W@ o T AT 82
4 What is meant by balancing of accounts? Why an account is balanced?
Tl o Y FoRIET T T 37 82 Toh @Td ol 3T 1 FHeRTal ST &2
5 What do you mean by trial balance? What are its objects and functions?

dAue for shgd 22 SHh 32T TS il FIT-HT 27

6 What is a suspense account? When it is opened and how it is closed?
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It @TAT T 22 IE el Wi ST @ IR fohe TohR st forar STTar 22
Rectify the following errors.

freferfiaa sgpfeat o @ =t wfafe Hifsm

(1) Furniture purchased for Rs. 4000 was debited to purchase account.

Fe Y THiE W F, 4000 sHT GTd § hiee i 3R forg feu

(11) Goods sold to Banuram for Rs. 1350 were entered in sales book as Rs. 1530.
SIS T &, 1350 3T AT S=IT TTT ISTeehT forshar qecah | &. 1530 st faif® i 71§

(iii) Rs. 750 paid to Ram for salary for the month of January was debited to his
personal.

T ol < S HE T Sa4 &, 750 39k FfhTd @rd | for@ feam man

What are the differences between fixed installment system & Reducing balance

method & Depreciation.

B T T Ul T SRETTd Ugfd § oRIT 3T=dL 22
A machinery was purchased for Rs. 40,000 on I Jan. 2005 and spent Rs. 4000 on its

erection. The estimated effective life of the machine is 10 year break-up value of Rs.
3000 prepare machinery account providing depreciation for 5 years by fixed

Installment method.

SHEdt 2005 3T T AT . 40,000 H 563 AT T3 qAT 38 M H &, 4000 = U 7
1 HALATHA STt 10 99 & Sreeh azerrd AfemTiE 7o . 3000 grm Tt fored ugla
& Ui o forg g e gu weitdt @rar s

The Balance of provision for bad debts account on 31* December 2006 was Rs. 8000.
In the year 2007 bad-debts written off were Rs. 2000. At the end of the same year Rs.
1000 are to be written off as further bad debts. at the end of year 2007 debtors were
Rs. 51000. The provision for bad debts is to be kept at 5% of debtor by the trader.

31 FewFIE 2006 3T Go 0T o foTT STRITSH @I T W 8000 FHI 1| 36 ¥ 2007 H g
=R STafefiad o T 2000 T | 36 9 % 3= H 1000 TG F Ford T IR AT
A 2 a9 2007 % I H &R 51000 FG F A RATIRT §RT o KON o A SRS
GG T 5 ST 2l & | ST T STl &

Prepare provision for Bad debts account & Bad debts account for the year 2007 from

the above information.

STYFT GETHAT § N 2007 o AT ST 3R0T SIS WIAT T oIl K0T WIAT dAR shiforg|
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What do you understand by secret reserve? How it is created?

T HeR | AT AT e 82 Sfaw Siai o =R 3are i)

What are closing entries? Give four examples of closing entries.
At~ afafE=T fort srea 22 arfeaw afafsa & = fore samom grar s
Rs.

Opening stock IR fEyTeh Tefat 7500
Purchase shd 7500
Sales farsha 10000
Sales Return farshar amaeft 1000
Purchase Return v aTa&} 500
Carriage @Fﬂé 750
Carriage outward g?ﬂ'g frtm 500
octroi T‘:ljﬁ 500
factory expenses ShIETHT oI 2500
Closing stock 3T~ T&faar 8000

What is profit & loss account? How does it differ from trading account?

AT BT @1t fort shgd 292 I8 SIT9Tieh @Td § fore Jerr fir=T 27

On 31% December, 2010 Sunday debtors of K. Bros. amounted to Rs. 582000 out of
which Rs. 2000 proved bad & is to be written off. A bad debts reserve of 2 /2 % is to
be created and a provision for discount is to be made at 1 2 %. Give journal entries

recording the above transactions and show the position of final accounts.

o, 9eH ol Tl § 31 feEFR 2010 HT [ S8R &. 82000 I 7 &g g AR
IR STITARTT HTAT 2 IUTR K0T o 2 V5 TidwTd @9 3N Heldl o I 1 1 gfersra raem
AT 81 STYFA I S T AT L Y SHe Srafsat S it stfaw @t ot ferfer s
IEEIER]

What is Cash book? State different types of cash book.

Uerg =t T Bt &2 fafr werm <t Aarg aifedt a0t avfa ifsg)

Define depreciation and state why is it necessary to charge depreciation?

e BT 2T TieATeT ST ot sraTgd fof e g1 Srafcifiad st e e 87

What points should be taken in mind while calculating the depreciation? explain.
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T BT Sh TUHT i H Tt fofiT STl bt €T T =mfeq? eweisal

What is the difference between dual aspect concept and accounting period concept.

fe_uefiar dorcaqT T SIEToRT T HeheddT § -7 3= 272

Discuss the main difference between joint venture and partnership.

T TTEH o ATHERT H =L ! o™ & rzsd|

Explain accounting methods for joint venture.
HIYFT T o or@Teh i ffRrli 1 amas|
Differentiate between the consignment and sale?
o7 Ue forsh | St sraTsd|

Give differences between Performa invoice?

T sfisten Ue sfisreh H 3=l SIdrgd|

2000 tome coal at an invoice price of Rs. 13 per tonne was dispatched that cost price
of coal was Rs. 8 per tonne and carriage on it was Rs. 4000. 1520 tonne coal was sold
by the agent, the expenses on this was Rs. 1600 selling selling expenses 2.5%
brokerage and 5% commission the agent informed a shlestage of 100 tonne on the full
consignment due to dry up. calculate the amount of stock with agent. FIAT 13 T
e sfisteh Hed T ST 77| 2000 2 HRA H1 ARG 4o § T Ufd 27 o1 37 38 W
T {TET 4000 9 1| 1520 2 HIAAT T SR = T $6 W 1600 TR fosear =2
2.5 Sfererd gerrelt @ 5 whcrerd smHteE o mm wwed Swor o gtafifer 3 100 @ e aw
U T B hT T it iR o o Sy w2ie T geate i)

Discuss the lights & hire purchases.

ToRrIT halT o AT =T Ui ShIfSTY)

Prepare hire purchases trading account by the following information’s while trader

salls goods on hire purchase system by adding 25% profit on cost:

et <t 1 el | TR SR SATIR T qaR TSI STefen SR SR fRrEr s g
ANTT | 25 Tfaerd AT SIS HIeT ST STTdT 2
Jan 1, 2005 Stock with customers can cost price  Rs. 20,000

Dec. 31, 2005 Goods sold out on hire Rs 125000
Cash received from customer Rs. 10,000
Stock with customer can cost price Rs. 30,000

Installment over due Rs. 10,000
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Write the difference b/w hire purchases system and installment payment system.

Tortran shar wgfer et foreat oA vl & s farfag

Give differences b/w joint and consignment.

HYRT ATEH TS ST 3 ST STl

State the types of branches.

ITETAT o TR T THETS|

What are the characteristics of installment payment system?
ot ST gt o FeaT e 22

Explain going concern concept in brief.

AT ST SN shl HieToed AT hifely

How is verified the mathematical accuracy of posting of general ledger is sectional

Balancing system?

wﬁaaﬂmwﬁ% A= G GdTeal shi i ST ohl STl fohe e sht STl
77

Accounting standard ensure the consistency and comparability of financial statement.

TR SHTY farftre foremor # Tehsudt Te qeiTeeRdT ATd & SHETEa |

Why total creditors account and total debtor & account are prepared?
AfEe THER @ Td 3aR W I Gar ford ST 82

Distinguish between cash discount and trade discount.

g B Te AT BT H R T |
Give journal entries to be made in Branch account when goods are sent on invoice

price.
SfITeh Hed T TRGT @A 1 shi G201 H 31 ST JTedt TS Yt iy

Prepare stock reserve account under stock and debtors method from the following

information.

Eieh 9 SR foifer & ek d=r @rar e sl 8 a5y

How is journal sub. Divided?
USHTH! 3T 3T-aTTRL0T HEl BIT &2

Why a journal called a book of original entry?
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TSHT ! TRIFeR g ohY SI2T - ohal STTdT 82

A machine was sold on hire purchase system on 1 Jan 2013. Rs. 5000 was paid at spot
and rest was paid by four equal quarterly installment of Rs. 11000 each. The cash price

of machine was Rs. 45000 find out the amount of interest included in each installment.

Teh W fohtram shar ST oX 1 e 2013 =1 si= Wil 5000 &, 1 G I o 9
11000 . =l =R GAT BraTe! foredl # foram ST 21 7 o1 Tshgl 7o 45000 F. 81 T
[EaSRNIIERERIS EARUNEICERISI

Explain money measurement concept.

LERICERCE Bl ER LIRS EEIER]

What is the nature of accounting policies?
AR ifert i safer /T 82
Distinguish between purchases book and purchases account.

I SIE! Ud 3 WTd H 3T hifTT)

Define the purpose of maintaining subsidiary books.

HEI [&deh Tl o 3e3d Ud AT bl |

What is the objective of manufacturing account?

fomtor @Td 1 3eT AT 2

What are the advantages of keeping ledger.
QTATeRT W@ o AT &7 87

Give outline of trial Balance. How is trial balance prepared?
qIE ShT ST ST | IT Tore TR dar forarm ST 82

Why should the totals of both the sides of trial balance should agree?
Tt =it o ST AU Shl SIS @l HeTHT =ee?

What types of entries are posted into Journal proper?

ST o1y o i a2 ol Sfafea gt 82

What do you mean by unrealised profit in hire purchase system?
fortran s Tfer o ST 7 I G AT ¥ STTIehT T 3T 22

What are the various types of errors?

arRrfegat o fafirmt wepm R 22
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Explain the procedure of doing provision for adjustment of Bad & doubtable debts.

YT T HieTer /N o foTq SRS sht gfsha sarga|

Why the subsidiary book of original entries?
HETI Afeal i ol ht TRIETe sifedt @1 shed a2
What is meant by provision for discount on debotrs.
G W RN 3 FoTT STRIISH & 3179 T |werd 22
What is meant by balance methods of trial balance?

que hi o fafer s/ Bt 22

Why is it necessary to record the adjustment entries in the preparation of final

account?

e WA SHTd U THIISHI sh T STTTRIHAT 82

What do you mean by obsolescence?

STITAT T STTIHT AT ST 72

What Adjustment entry would you pass for reserve for Bad and doubtful debts?
ST QT HIETe VT oh 7T Hed o fTT 3119 a1 GRS o hidl?

What do you understand by imprest amount in petty cash book?

T Uk TEeh o Ha W USRI TR H 7 1 eI 82

Write the differences between diminishing balance method and fixed installment
method.

IZd Y Tgd o Lrft forva agfa O o=t sar=

What do you understand by reserve? Explain its two characteristics.

T | T IR 22 Eh & TaIeIvdTd siaetrsa|

How accounting is important for a businessman?
ST o foTT @i e STTawe 82

What do you mean by Bank overdraft?

oo SATTorRY § 3179 T | &2

What do you mean by adjustment entries?

GRS Yt & 3119 1 gHed 82

What is meant by cost of goods sold.




66

67

68

69

70

71

72

S T WIS ShT AT & T SR 22

What are the differences between gross profit & Net profit.
el AT TS Y6 T H T 3T 22

How are the following items treated in fixed accounts?
3f-am @l # fefoTiaa 7t sl e fa@mam s 82

1 Closing stock 3Tf-aH TEfer=T

2 Interest of carpeted qjﬁ RIS
3 Less by fire 3T ERIE]

4 Accrued income 3UTRId 31T

What do you mean by error of omission?
Ve Harelt STRIfat | 3T T wHEd 87
What do you mean by error of commission? Give on example.

T AT ARGl | ST AT GHA 22 Teh Jareer | iy

What do you mean by error of principles?
HgTfden SRl | AT 1 qHAd 27
Explain the method of posting of compound entry with imaginary figure.

forfera wfafy ki @di=t 1 shcafes STreRel Y gerar 8 g

Journalise the following transactions prepare the accounts of X & Y and balance the

same:

fefTiad Saeri st UsHm § forfad o v 31 3fg o @rd aH1ed

April 2010 Rs.
April 1 Sold goods to X T ! HTe si&T 8000
April 5 Cash received from X T ¥ Fehg U fohaT 3000
April 8 Goods returned by T = AT AT fokam 200
April 10 Purchased goods from Y TS & HTeT GHIeT 2000
April 20 Goods returned to y aTg sl I [ED) 1500

April 30 Goods returnedto Y _OI'I§ T 7T I1iae foram 200
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TraeuTener T9r (Essay type Questions)

What is meant by assets? Explain its various types.

TRl | T ST 2 36k fafT YR i e Fifs)

Explain the meaning and nature of accounting standards.

QTR JuTdT ST 37ef U Wehfd SaTgd|

Explain the consistency and conservation conventions of accounting.

THEAT T8 T[Tl T ieh TFRTS! ohi ST Shifsy)

“Ledger is the principale book of accounts.” Do you agree with this view? Illustrate.
“TTATEE] oIl 31 YT 6o &7 T 3T 36 9RO 8 HeHd &7 AT il

What do you meant by subsidiary Book? Can it serve any purpose? Write the name of

classification of journal.

T Afedl ¥ 31T AT GHAd 8?7 FI1 378 fohelt 3827 bt gfd Bt 82 TSI o farsi o A
STl

Explain the various methods of preparing trial Balance.

qeTIE o S 3t Tt farferar =t aoia hifs)

How would you rectify the errors after closing the accounts?

QT o€ T o SIS AT ST b1 G F8 12

What are the different types of errors? Explain each one.

AT o Tl TerR SIeTsa? Tdieh o1 i hifsry]

What is depreciation? Why is it provided? Explain methods of recording depreciation.
BT AT &2 34 HIT ST ST &2 16 T i@ i okl fferl sht samean shifs)

What is working capital? How is it calculated? What are its various types?

IR GSi fohel shed 87 geeh! TT0T fohel TehR oAl ST 82 I8 foha Tehr 3 Bit 22

Write explanatory notes on: (i) Goods in transit (ii) Inter Branch Transaction (iii) Cash in

transit (iv) Depreciation on Branch fixed assists.

Tyee &9 ¢ femafort fafaw -

(i) AT H AT (i) 3R IR SFER (iif) AT H U (iv) T shl TATS TFATRIT T HABTH
Explain the main accounts to be prepared in stock and debtors methods.

i T A T e T et S T A

Atul traders. Allahabad opened their retail branch at Mumbai. The goods are supplied meets

its expenses out of its cash sales and remits the Balance to H.O. after keeping some balance
with it for expenses the branch does only cash sales. From the following particulors prepare
the branch a/c it books of H.O.
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A JSH SATRTETE & qrarg H 70t Toh Beeht ITRAT Wiei| TG hl HTed T 9 S ST & 39K
It T forsht § A STU e ! 3 Y TR T FHETerd Sl UST Idl 81 IRET el o
IEERETGIRS

frrferfiaa foreror & war shrrferr sht qedehi H @ SHTST -

Stock of goods in the beging 7500
Balance of petty cash with branch in the beginning 400
Goods supplied to Branch 10900
Goods return by Branch 1900
Branch sales 137000
Branch Expenses:
Ways and salaries 11700
Rent and taxes 1200
Insurance 300
Petty expenses 200
Postage etc. 760
Statierery 140 14200
Advertisement done by HO 1600
Freight & carriage paid by HO 1400
Closing stock with Branch 11300
Closing Balance of petty cash 3200

Asha locks, Jaipur has a retail Branch at ajmer, to whom goods are supplied at cost plus 25%.
Form the following particulars relating to the Ajmer Branch find out its profit or loss for the
year 2013 using stock and debtors methods.

AT AT, STAYX hl T JMTET ST H 2, TR A1t AnTa 0t 25 Sirered gt St STt 8l 3T
AT & Heiferd FHferfiad foraeon & wies Te aar forfer 3 1 2013 a9 o1 AT 8T J1d shiferg

',
Opening stock 11,100
Closing stock 23,900
Goods supplied to branch at inoerico price 132,600
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16

17

Cash sales 40,000

Credit sales 80,000
Received from debtor 75,700
Discount Aelroed 750
Cash remitted to Branch: Rs.
Salaries and ways 3000
Rent and Taxes 1500
Insurance 750 5250

What do you understand by sectional Balancing system of ledgers? Explain its merits and

demerits and also describe the working of sectional Balancing systems of ledgers.
QrTeIedl st i Feqei STl | 3T 9T HeId 82 $6eh 00 o aIY Sd1gd T S Feqer
T <kl 1l JUTTedt oAt fora= i)

What is self Balancing systerms of ledgers? Gives its working and stale as how it differs from

sectinal Balancing system of ledgers.

QeI Th! TaTeh T F=IeT VT &7 &2 HhT SHIATUITET SISTT TT I8 Sdalsy fo @rdreear i
ST Tt YoMt & I8 fordl Jehr [T 82

From the following details write up total detors account and total creditors account in the
gernal ledger as on 31 March 2013:

frmforfiad gemmeti @ 31 Wi 2013 1 @ WATEiedt § ol S7eR d Fl HeR WTdTl a-1gd|

&,

Debtors (1April 2012) Dr. 17425
Debtors (1April 2012) Dr. 320
Creditors (A April 2012) Cr. 27408
Creditors (A April 2012) Cr. 204
Credit purchases 25200
Credit sales 28209
Sales Return 208
Purchases Return 714
Cash paid to creditors 12700
Bills received form debtors 9300

B/R Dishonored 200



Bills accepted for creditors 7400

Discount allowed to debtors but later on disallowed 100

Cash Received from debtors 8700

Discount allowed by creditors 1020

Cash paid to debtors 25

Transfer from debtors ledger to creditors ledger 1242

Cash purchases 4320

Cash sales 7400

Bad debts written off 215

Discount allowed to debtors 215

18 Below are given particulars from the sales ledge of shriRamlal a traders for the month of
march, 2013.
frefefaa foawer v st #ff TaeTer s fasra @rareR! § 918 |, 2013 & e
&,

Balance on march 1, 2013 3100
During March 2013:
Total sales for the month (Cradit) 9100
Sales returns 1500
Cash received from debtors 41000
Bill received 16000
Bill dish onward 2500
Discount allowed to debtors 1400
Bad debts 1350
Transfer from another ledger 1750
Bills receivable to endorsed to suppliers 2200

You are required to prepare sales ledger adjustment account in general ledger and general

ledger ledger adjustment account in sales ledger.
HTYeh! FTHT QTSR] H [orshd WTeTere] §THT= WTdTerel GRS ST -5l

19 What is hire purchase trading account? Why it is prepared? Give its Performa.



TR Shar SO G R 87 59 @Td o1 I 1337

20Write short notes on the following

fefctRaa w s fared feafor fafay

21

22

(1) Hire purchase trading account TR Sh ST @t

(i1))  Assignment of hire purchasers right ToRTr ShaT ST AT T BEdiR

(ii1))  provision for unrealised profit in the books of hire vendor ferrm forshar &t
TR H A T §E AT foIg TS

(iv)  Goods repossessed A/C WW@W

On st April, 2012 Mohan purchased a machine from suresh on hire purchases system,

Rs. 15000 being paid on delivery and Balance in 3 Annual instatements of 10000 each,

payable on 31 march each year. The vendor charge 5 percent per annum interest on

yearly both the parties. Give journal entries if the rate of depreciation is 10% p.a. on

fixed installment methods and books are closed on 31 march.

1 STU 2012 T A foRram 6 gl o gL 9 ek 7efis wlidll 1500 &, et ot qen
319 TRT 10000 . T 3 T fohedt § T i STt Sit gfded 31 A= ot o gnth foshar
TN TRl OX 5 ST=Ta dTfieh X § SATS e A &l Thel 7o 42000 F. 81 ST qaft i
TEehl H 37 @lal 1 &S i o o SHer Sfafsa g afe geargme ot 2 feord ggia @ 10
STfrTa SIferars @ T e 31 AT i o ol ST 2

Cash price of a machine is Rs. 15000. Its hire purchase price is Rs. 16000. The

payment are to be made as follow:

Te A1 1 T8 hAd 15000 F. 2| IHHT R 367 Je 16000 . & YA e T
foparm ST 21

.
Wi Rt o T 1 3T 2012 4000
(At the time of delivery of machine on 1April 2012)
3 HIE UM (After 3 months -) 2000
8 HIg UATd (After 8 months -) 6500
| a9 gv=Ta (After 1 year -) 3500

Calculate the amount of interest included in each payment and prepare the the hire

purchasers account in the vendor ledger.

s WA § AiFAfrd sarst sht TiRT 1 KU Te farsharadl ol @rdrert § o shar
ECIRICEIED]
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Rohit sells his goods adding 25% profit to cost on hire purchase system. From the
following information. Prepare his hire purchase trading a/c for the year ended 31 Dec.
2013

2013 Jan 1  Hire purchase stock wih Rs.
Customer’s (at hire purchase price) 5000

Jan 1 Instalment overdue 1000
Dec 31 Goods sold on hire purchase

At cost price 12000
Dec 31 Installment overdue 2000
Dec 31 Cash Received from customers 15000
Dec 31 Hire purchase stock with

Customer’s/at thire purchase price 4000

o 0

UfEd AT AT foR™m v Ui W AT W25 IR AT Shiget d=rar gl fferiad
e | 31 fewret 2013 o1 @HIed 99 o foTT SHehT foRtrIT 3 ST @t a3y -

| SFa Rs.
TTEehT o UTE FoRTraT sha Wi 5000
(fohTT 3 e )
1St - e foRed 1000
31 femrer - foRTrE s O S T AT
o TN Hed T 12000
3] fooreR - weRr fohed 2000
3] fooreR —  TTEehi © TS T 15000
3] fourer —  TTeeht o U TR R Wik
(EERIERRER 4000

Describe the advantages of sub dividing the journal.
USHTEE % IYFTHTSIH o TATHT 3BT 0 il
Enter the following transactions into double column cash book having cash and bank

columns only.



fFreaforfiaa sae=r s dar & @Fl ATl Ushe ot | Hifsie e Tene o sk o1 shierd 21

2010 ®.
Jan 1 Balance at Bank (aﬁﬁaﬂ@ﬂ) 2000

Jan 1 Cash Balance (ﬁ'éh_s’ ﬁﬂ) 100
Jan 6 Purchase goods by cheque(aaﬁmma@ﬂa) 1200
Jan 6 Drew cheque for office use(mqm%@aﬁﬁm) 50
Jan 7 Purchased stationery for cash(l%&'l‘!ﬁ:ﬁ_d@ﬁﬁ) 10
Jan 8 Received cheque from X (xﬁ%mwﬁm 125
Jan 10 Carriage padi in cash (9hq HTST) 33
Jan 12Z us paid by cheque (z%%vﬂm ﬂTI?l'FT%FQT) 175
Jan 12Paid to A by cheque (Aaﬁ%esmwﬁsm) 175

Jan 27 Received cheque for sale (i<\3I9h¢{ & foTT < Tea i;h?-ll) 200

On 1 march 2010 A merchant advances Rs. 2500 to his petty cashier for petty
expenses. Write up the following expenses in the petty cash Book. Also show the
amount receivable on 1% April to the petty cashier -1

1 7=t 2010 3T Toh AT 39 A UHISAT bl Feht AT o [T . 2500 TR <1 81 7
ST ! T Uehe TEehi H [IRAT | | ST i Tehi S i ST I STl TRT sl

2010 Rs.
March 1, Carriage (TTIS1 T HTE) 100
March 3, Postage stamps (ST ﬁEh?) 125
March 5, Thela charges (éET‘H'IET @Ef) 150
March 8, Telegram (dR) 120
March 10,  Stationary (<& qraIfh) 120
March 12 Printing charges (E§>'C|'I7.3c ER)) 130
March 15,  Tea party (I UTe) 130
March 18,  Chirites (ST) 70
March 19,  Sundry expenses (%I'%ﬁl @%f) 70
March 22,  Coli charges (W @T:f) 40
March 24, Catage (w) 50

March 25, Octroi (a\'gﬁ) 40
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March 29,  Postage (STeh =I¥) 40

March 31,  Sundry expenses (ﬁﬁﬂ @?f) 40

March 31,  Railway fright &Torga hire &H‘T@T 3R IRIRETIRN 200
Prepare a sales Book from the following transaction of M/S Prakash& sons.
fAfTRad o ST | TR e 6+ ohi Toshdl gl SiTadl

2010
Jan 1 Sold to M/S Gupta Brothers on credit

T SIS i 34T forshar fora

3 Shirt@Rs 100 per shirt

(3 HHISI I E 100 Tt FHHTS)

2 t trouser @ Rs 150 per trouser

(2 U2 T E 150 Ui I=2)

Jan 5 Sold old furniture to M.S AB. & Co. on credit Rs.800
(TS, TE ; ol IR GUHT HriT=R si=iT 800 &, H)
Jan 15 Sold to S.K. Jain & Brothers on credit:
Sales 5 shirts @ Rs. 90 per shirt

(5 FHS &1 & 90 wfer i)

Jan 15 Sold to Bhawar Singh & Brothers for

Yo UE 5ad ohi ohe Tashd foha

Sold 5 to shirts @90 per shirt

10 IS & & 90 Wi FHIS

Jan 20 Sold on credit to M/S seth Brothers:
H3 51T I IR forshd Tk

10 Trowsers (@ per 175 per troware

(10 U2 X 175%. Ifd U=2)

2Ever coats@ per Rs 672 per overcoat

(2 IHIE T 675 T 3TIHI2)

25 Shirt @ per 80 per shirt



25 SIS & 80 T HHIeT)

28 The following is the trial Balance prepared by are in experienced book keeper. Redraft

it in a correct from and given necessary working notes :

T FIWIEH TETeish g0 (e deue dam foen T 21 36 el Wed H O S|
Tayes fewaforr difse —
Trial Balance

For the year ending 31 March 2010

Name of Account 4F Amount

Dr. Cr.
3 (Salaries) 1600 -
& Uk (Cash in hand) - 400
Sk srferforend (Bank overdraft) 2800 -
fafag = (Sundry Expenses) 2400 -
T I9ET (Purchase Return) 800 -
qﬁ @TrdT (Capital account) 4400 -
HI I Wi+ (Machinery & Plant) - 4000
ISR (Debtors) 1600 -
TER (Creditors) - 2400
IRfEeR WA (Opening stock) 2400

2000

ECTIRCE ) 5600 8800
[EEREIEL) 1600

19200 19200

29 (Retity the following ettors) —

et srpfieat =1 e Hifse -
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1 Hari Returned goods worth Rs. 500. No entru was passed in the books to this
offect.

&l A 500 & o1 AT AICTET| $Heh(T TecTehi H RT3 Sfarf® et <Al e
2 Goods worth Rs. 3000 sold to Babu ram were entered in the purchases book.)

SIS =1 s &, 3000 % HI hl shasrel | T

3 (Firniture worth Rs. 500 purchased for personal use was debited to purchases

account
HAsft st o fow wiie &. 500 o S ol 579 @Td B shige T faam mam

4 (Rs. 600 paid to Gopal as salary for the month of January were debaters in his

personal account.
TS hl SIHER] 78 T &, 600 - 13T, 38 i @rd 7 gfsre at fe=m)

5 (A cheque for Rs. 100 received from Shyamlal having been dish endured was

wrongly debited to Ramlal’s account.)

TITHATA & ITed &, 100 T ek ST 819 T TAd] & THATH o @Td § Sfee ht
feam

A company, whose accounting year is the calendar year, purchased on 1 April 2009,
machinery costing Rs. 300000. It purchased farther machinery on 1 Oct 2007, Costing
200000 and on 1 July 2008. Costing 10000.0n 1 Jan 2009. One third of the machinery
installed on 1" April 2007 become obsolete and was sold for Rs. 3000. Sharo Hero
Machinery Account as would appear in the Books of the company. It being given that
machinery was depreciates by diminishing Balance method @ 10% P.A. what would

be the Balance of machinery account on 1* Jan. 2010?

Teh SHEHT 1 3T 2007 T E. 30000 H Tk A T 36 WA helvet o &8s & =eld
21 39 | T 2007 T &, 20000 H S 1 TS 2008 T 10000 H FRAT T 1 SR
2009 ohl 39 AT T 1/3 9N SohR &1 T=T S8 1 3T 2007 =hT SRIT T=T T 3T 36 3000
4 o foT T HEOHT S QR | WA @t sHTSdl w6 10 Sfowrd it e |
SHUTTT B9 UG & BT H1eT ST 2| 1 el 2010 3T B ©Td 6T 3T 24T EAT|

Prepare the Bad debts account, provision for Bad debts account, profit and loss and

balance sheet from the following information as on Dec. 31, 2009.

frefctRad gemT & 311 31 fagwsr 2009 1 @HI 8 a1t a¥ & fog starer =Ko @
YT /T o ToAT TSI QTAT,ATH BT @TaT U g1 -]




gER (Debtors) 80000
3T K0T (Bad Debts) 2000
STITT SO AT (Provision for Bad debts) 5000

YT HKOT &, 500 AT K o [T ATSH 6 W 3 Ifa9rd (Bad debts Rs 500;
provision for Bad debts on December @3%)

32 Calculate operating profit and Net profit from the following:
T3 & e ST T 3T ST ST IO SIS
33 What do you understand by the inter branch transactions? How they are dealt with?

I TG SRR § AT T THHAd = 390! fohl TohR forafeara forarm Srame?

34 The Trial Balance of chatter sen on 31% December, 2009, revealed the following

Balances) —

L O T delue 31 feuwsit 2009 1 T 9y fe@mar 21

Debit Balance Rs. Credit Balance Rs.
Promt&Machinary 90000 Capital account 110000
Purchases 58000 Sales 127000
Sales Returns 1000 Purchases Return 1275
Opening stock 40000 Discount Rpc. 800
Discount allowed 350 S=Sundry Creditor 25000
Bank Charges 75

Sundry Debtors 45000

Salary 6800

Wayes 10000

Freight: Inward 750

Freigj: Outward 1200

Rent Rates Taxes 2000

Advertisement 2000

Cash in Bank 6900




264075 264075

(The stock of 31 December 2009 was valued at Rs. 35000 prepare trending. Profit and

loss account, for two year ended 31 Dec 2009 and Balance sheet as on that date.)

Af~qw @it 31 eEw 2009 =T . 35000 =T 2| 319 31 fRHFR 2009 T T B a1
¥ ST ST @TelT, o1 2T wet feerfer feraor smmsan

35  famfafaa sreret @ 31 fearew 2009 1 gATT R et 9Y % fofe samwR @rar @ e

qrar us Rerfe feror smgd

Account Title Amount | Account Title Amount
USiT (Debtors) 2000 USiT (Capital) 5000
YRR Wik (Opening stock) 2000 [SREAR (Creditors) 1000
e U WYL (Plant & Machinery) | 1000 ECRESIKIER] 930
I (Salaries) 200 (Reserve for Bad dabts) 50
HTTE:& (Wages) 500 EEEIN I (Discount received) 15000
W T wa (Land & Building) 3000 forshar (Sales)
ST @ (Trade expenses) 50 forshar &L ERY fRaT (Sales Tax | 1000
9 (Purchase) } collected)
Uhs (Cash) 10000
HATELT (Drawings) 2000
WW (Sales tax paid) 2050

250

23000 23000

36 Calculate operating profit and Net profit from the following
T3 & e S TE 3T ST ST IO i




Rs. Rs.
Gross Profit 400000 Interest on loans 25000
Carriage outward 4000 Interest on | 2250
Adverting 8000 Investment 3500
Salaries 150000 Pointing & Stationery | 5500
Rent & Taxes 50000 Loss on sale of| 199
C furniture
Lighting 20000 3100
General expanses
Insurance charge 2000 5000
Donation
Bad Debts 1500 15000
) Rent Received
Audit fees 2500 35000
Loss by fire
Gain on sale of
machinery

37 Why Adjustment entry are passed? Give 10 adjustment entues along with their

exptanation.
TS o 7 3R ST 87 58 TS i SSTevT |ied aHemsd?

38 Alok & Co. sells goods on hire purchase basis at cost plus 50%. Form the following

information calculate stock with customer as on 31 march, 2013.
1 April — stock with customers (at cost price) 24000
1 April — Installments overdue 20000
31 March 2013 — Cost price of hire purchases

Sales during the the year 232000
31 March 2013 — Cash Received from customer 240000
31 March 2013 - Instalmenteverdue 35000

AT TS FHFIHT TR 33 Tgid o HTIR T AT H 50 TTaRTd A1 STgeht T, fosha
L 2 T FeTell o STUR WX 31 HTE 2013 1 ATEeh o IH & HaArTd 97 J1d

HITSTT

1 April — UT&eh! o UTE EEfeh (AT 7l W) 24000




1 April — ST fohedt 20000

31 March 2013 — 9% o SR s T AT 3 ANT 9 232000
31 March 2013 — Ui & UHS T €S 240000
31 March 2013 - ST TRk 35000
Memorandum Hire Purchase Customer account
Particulars Amount Particulars Amount
To stock with customer 36000 By Cash 240000
(opening (24000/150/100) 20000 By Instalment 35000
To Installment overdue (Op.) 348000 Overdue (Closing)
To Goods sold to H.P. Price By Stock wit 12900
404000 Customer at H.P. | 40400
Price
(Closing)
39 On 1% January, 2007 vardhaman seeds limited purchase a machinery for Rs. 1000000

40

41

including a boiler worth Rs. 10000. Depreciate was charged@10% P.A. on
diminishing method. During the fifth year the broiler become useless on account of
damages to same of its vital parts. The damaged bailer is said for Rs. 2000. Prepare

machinery Account for the first five year.

Fu Heg fafies 1 sHadt 2007 w1 Tt 938 €. 100000 FF TS @@ . 10000
eI Ueh SRR SMHS o1l §6 9 10 SfRrd shl o § AT 319 FEid & HTUR W g
T | el o | STIer o e Wecaqul g5t @I &1 ST o SRUT IS SIhR 81 TTAT| Sh1
T &. 2000 | o= T | viwr 9 o for wefi=d @t s

What is three columnar cash Book? How are transactions entered in it?

A @I STelt Uohe ST § 37T T GHeId 2| SHH oi-e-T shl hel fot@r STrar 22

If the debit and credit side of a trial Balance Agree in Amount is this a conclusive

proof of book. Keeping work? If not why?
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46

AT qAUL ok ATH F SHT & shT FNT SIS €T ST A1 7 Ig TEATe o M ohl Gl 0
TFhT SPHTOT & Ffe et ol H 2

What do you mean by accounting Principals? What are its main features?
AETe gl | STTeh! T AT 82 36h! T foRINTE i i & 87
What do you understand by Accounting concepts? Explain any four.
TG STIRUMSAT & ST FIT G &2 Teohea] SR T AUM hiTSTT)

What is contra entry? How can you deal this entry while preparing dowble column
cash book?

oo wfarf® ford shgd 22 3119 1 @I ATt Ushe 2] ST UHI SEHT A@T 8 HTT?

Write up journal —

(1) Balraj become insolvant, a dividend of 50 Ps. In a Rupees is recemed from him
against Rs. 2000.

il Depreciate machinery worth Rs. 40000@5%P.A.
(i) p y

(iii)  Purchase one steel almirah worth Rs. 3000 for office use.
(iv)  Old furniture sold for cash Rs. 1000.

ST 1SS -

1 SIS feaTfora g1 T ST Ueh &9 W a=re 9 sht T1f g3 %, 2000 % S|
2 I &, 40000 9 5 Tfererd st & § feramee g

3 FITAT JANT o I Tah e TR &. 3000 st G|

4 QAT HATECE, 1000 S

Prepare three column cash book from the following transacions:

Frefefaa deaT @ & @ aTelt Ushs &t a9 Hifsg)
Jan 2010

1 Stat Business with cash 50000

(U | SATIR J[& foF3AT)

4 purchased goods 20000
(AT TI)
6 goods sold 500

CISEED


mailto:40000@5%25P.A
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10

15

20

22

25

28

30

opened a Bank account 4000
(CEZR: KEIGIRCIS)!

Received from Amit 4900
(T 9 firen)

Allowed him discount

(3T Frat &)

Paid to Ashish 2950
(3T =t T

received Discount 50
(YT ITed )

Paid salaries 1000
CERAERD)

paid office expenses by cheque 200
(= ST Ferd =3 feam)

withdrew from Bank for office use 1000
(& & T 3 ST 2 o)
withdrew from benic for personal use. 100

(e & AT T o forg Fepren)

Rectify the following errors:

(1) The purchases of stationery for Rs. 75 was debited to trade expenses account.

(i)  Rent of Rs. 5000 paid for residential accommodation of the proprietor was
debited to Rent a/c.

(i11))  Furniture sold for Rs. 100 has been posted to trade expenses.

(iv) 200 cost of repairing the rouf has been charged to Building a/c.

T argrfeat o1 gam shifs -

1 G Tt T &, 75 T ST AT =0 Wid ¥ fore fam mm)

2 &; 500 HTfeAeh o HeRTe ohT TohtrIT fearm o fom @ra # forg fe=m mm)

3 %, 1000 T EAa ST SR ORI fosR @rd # o @

4 %200 ST h! HGHA & 7T [ TTT o @1d | for@ Tl
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A company has acquired land on a uase of 30 years, and has erected a building costing
Rs. 99000. You find from the sinking find tables that the amount for the repayment of
Rs. 99000 is 30 years by way of sunuity at 5% per annum is Rs. 6400 P.A. mark up the
leas hold property A/C for the three years.

T HFOT 30 HTS o U8 O AT ST 3T SR 3F W 99000 F. 3T ANT W TH HaT H
formior foraam 21 SITaehl SiTer I drfciehtel & S1d giel @ foh 30 o H 5 Siawrd s s &
99000 . T WA & o o1 AT FeT hT T 6400 T, B

T Y o forg ug st gy 1 @t dIR Shifs)

A Ahmedabad and B of Mumbai enter into a joint venture to cousign 2000 bales of
cloth to C of Kolkata to be sold on their joint risk in the ration of 3:2.

A send 120 bales at Rs. 26000 each and pay to Rs. 36000 for expenses. B send 80
bales at Rs. 25000 each and pays Rs. 32000 as expenses. All the bales are sold for Rs.
60,00.000 by C who incurred Rs. 64000 as expenses. C is entitled to a commission of
3%. He send Rs. 2800,0000 to A and the Balance to B by Bank Draft Prepared joint
venture account, the co-ventures account and c,s Account in the books of A and B.

HEHITSE o 3T = HFTE o o o WY THAHRT €Y IUHA (HTEH) SR hicThdl o H i HIS!
=1 2000 TS THSTETS| 3:2 AT H EIFd STRGH o @1 AE forsht et 6l 15

H & 26000 TS o f@1el ¥ 120 S AT € 3 36000 T % & H IHAT ol o &,
25000 Fafa M % fede @ F; 32000 @E % 9 T IET HAT 8 T g THE TS €
6000000 H sr=ft STt 8 3T & 3T W 64000 . 3T T I LT 2| | 3 Tl HHIeE 61
TN 21 I8 Sioh S92 ST &. 2800000 37 o I TFIT o T ATl B

TR SUSHH (UTEH) WTT, U8 HIEd i o WId a1 € T Qa1 37 AR § oRdl @rdi § i

EQIE LY

Why is it necessary for accounts to assume that a business entry will remain a going

concern?
iR H 36 STLN hl HHAT T SRR & Top sarer@my =ime] feerfd | @

Discuss the convention based on the promise do not anticipate profit but provide for

all losses.
“HVTId TATHT 1 BIS § W HHTIIA BT o foTq et hif” =t sAraied aftaret st
W@T*“éﬂ
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59

What do you mean by accounting slandered.

SRR ST ol SR 22

Discuss the need and utility of accounting standard?

TG JHTHT 3hT STTavdehRal T SUTRIAT 1 JUi shiT]

What do you understand by books of original records? Name the principal subsidiary

books. Stat the nature and transaction that are recorded in each of the them.

SR < 2T TEdehi H 3T T S &2 S HeTe Siedl & a1 fordll 370 § Jeish |
fore fore TepT o H1aT AT 1T T STl &, SISl

Prepare three column cash book with Discount, cash and bank columns) with fingers.

T @ 1] Uehg &l ST TUT FHIeH ek Hihel hl Terdl § 3HH iy ?

What do you understand by ledger what is its importans and utility to a businessman?

Give the advantage of a ledger.

WIATEE! & 3719 7 GHed 81| TR SATIRT & foU 9T Hecd o ITFNICT 22 WA=l o oty
«f diferg)

What are the mistakes on account of which a trial balance does not agree? What steps

will you tale to tally a trial balance?

o ST IRt & Foier RoT qede s AR Tl fierdn deue fre o T s f
JUTT T SR T2
What do you understand by Rectification of errors? Explain clearly one side and two

sides errors.
HAYSAT o6 R § ST 1 G0 22 Toh vaf o 5 vsfia swyfaat s awsms)

Rectify the following errors -
frefctRaa sTTfaa o dxme st wiafs hifs
(1) Furniture purchased for Rs. 4000 was debited to purchases account.

= Sl EliT W, 4000 37 GTd H efefe T 3R for few gy

(i1))  Atma Ram returned goods worth Rs. 2000 credted is the account of sita ram

(1))  Rs. 750 paid to ram Prasad for salary for the month of January was debited to

his personal.

THYETE ohl < ST & HeH o1 Jdd ®. 750 34 I ihiTd @1d | forg fa=m)
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(v) Goods sold to banu ram 400 Rs. 1350 were entered in the sales books as
Rs. 1530.

SIS 1 &, 1350 ST HICT sf=iT TRIT fSrerehl forshar Qe # 1530 &, sht wfafe <t
el

What is meaning of reserve. What is need of reserve what are the differences between

reserve and provisions?
G ohT T I 22 G<T sh ST STTETIhT 82 T qUT TS § 4T 3=l 27

Pink city stores of Jaipur has a brach at ajmer. The goods are invoices to are paid by
the head office. The particulars are as follow.

ST o TUshferdt T ohT Ueh ST SASTHL H &) ST bl AT ANTd H 25 Tierd Sigeht Ssit
ST © | SHEd Tl T SHEier o ZI0 I STd 2| foawor i genr 2|

Opening Balance - Goods Returned

Stock 5000 by debtors 500
Debtors 1800

Stock reserve 1000 discount allowed 600
Goods sent to branch 90000 Branch expenses 6500
Goods retwrvedbu branch 3000 closing Balance

Cash sales 100000 stock 12000
Credit sales 70000 debtors 57000

You are required to prepare necessary account in the book H.O. according to stock and

debtors system.
T 31 el § SATavaeh Tfafsat IS (&7 3 37er TEfd % 3T7ER)

Mr. Girdhar purchased machinery installment system from mr.pankaj. The cash price

of the machinery was Rs. 15,50000. The payment for the purchases is to be made as

under:

On signing the agreement 300000
Ist year end 500000
II year end 500000

III year end 500000
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Deprociation@20% on written down value of the assests.

Make necessary journal entries in the books of the buyer and seller under installment

payment basis.

off Frer 3 #ft dorst @ fopeq womredt o St=ariq weitdt @il wftadt =t =01 1 4o &
15,50,000 | @& T ST T Sehm & foram ST 21

S TEATER o {9 300000

o Y ST FHIE 9 500000

feftr o <Y wmfiy WX 500000

qaTa I AT FHIH T 500000

T B 20 SiaeTd & uiteraft o Sifrd 1o w

ToREat YT o ST R shalT QT IshaT o @l TR SHoT SISt &St it

A consignor has total sales Rs. 80000. Out of which Rs. 20000 sales in credit sales

consignee recived 10% commission on sales and 2% as a del creder commission Rs.

500 which is related to credit sales couls not realize from debtors. Pass journal entries
for credit sales. Bad debts & for commission in consigner books.

T sk St 3 et forshl 80000 & T 21 RTEH 20000 & T forsht 3UR & Heierd 8
I forshl o Heftr § Tk AR § 500%. 9 a1 81 Hehl| SUR fofshl, Tard 0T, T HHiRe
& water & wfaffr i geaes § sHa wfafeat dfsg

What is self Balancing system of ledgers. Give its working and state hero it differs

from sectional Balancing system of ledgers?

QT SIfedl sl Tellehi e STl T et 81 6eh! Shrlfoer dtiSTg qr 98 sqersy {6
T AT ST sh! A Heer STt & Tord Serr [ 82

Explain the methods of Recording joint venture transactions.
SREREIEERCEBIRS eI eV MBI BRIEI R EEIER]

What is meant by Provision for Bad and doubt fuldebts. Why is ssh provision made? Is
the making of this provision necessary for a trader?

“ZIA SR o (7T SRS’ | FT ST &2 I SATASH T ST ST &7 FT S8R HHiT
AR o foTg 3TTasees 292

The Balance of provision for Bad debts account on 31 December 2006 was Rs. 8000.
In the year 2007 bad debts written off were Rs. 2000. At the written off as further Bad
debts. At the end of the year 2007 debttors are Rs. 51000. The provision for Bad debts
is to be at 5% of debtors by the trader.
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31 fe@we 2006 1 o RO o T SRS @A T ¥ 8000 F. o1 I 2007 H o R0
ARG Tl T 2000%. | 38 W % 310 § 1000%. % TaTd 07 IR FA(ARGT FLA & | I
2007 % 3id H 3R 51000 F. % &) AT FRT GoId RUN o [T SRS G- W 5
SITCRTA 2l & & ST T STl 22

Following are the extract from the trial Balance of a trader on 31 Dec. 2007

Teh SR o qeqe | 31 faw@ret 2007 sl TH# Fermmd e €5 -
Creditors 600000
Discount received 2000

Balance of resove for discount on creditors Rs. 4000. In addition to above, Rs. 3000

were received as discount from creditors.

Create Reserve for Discount on

Creditors@5%

AEI -60000

SIET AT g1 — 2000

SIS I 5T 9T A 4000

SULle o AT 3000%. THERT € ST UTed T SR W 5 T 1 & & ol o
EEIESl

Give necessary Journal Entries. Prepare reserve for discount on creditors account and

show the items in final account.

ATIIIF T TfTST ST T SR R J2T1 §<iF WTdT Gifer qT 3f=dd @rdi | Hal sl
ERIER]

A car is purchased recently which is expected to last for 4 years. It is likely to consume

Rs. 20000 an repairs during its life time. It is decided to load the profit and loss
account of all the 4 years equally is respect of this expenditure. The extual
expenditure of repairs expenditure of repairs comes to Rs. 2000 in the Ist year Rs.
4000 in the II year Rs. 6000 in the III year and Rs. 8000 in the 4" year.

Show the working of the account that will be opened for the purpose.

T BT & H U R TIET T8 8| ST6eh 4 I A ol SFITaT 2| 3T ¢ ok 38eh Forma
T 36 ST 1t § et 20000 F. T BT I8 Fof fora ST & fof = awt o @ g1
QAT W SHRT SR T9TE U] AU hl IR eIeh @ T 99 2000%., Tgd™r a9 7 4000%.,
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qR a9 1 6000 . R =g a9 & $000%. T 2
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Who are the users of financial statements? Explain the detail.

Tty feramett o SmTehed i &2 Tored vl shitag|

What is meant by Assets accrual? Methods of preparing accounts under hire purchase

system?

ToRtra 3 Tgfer T oA SRt kT el SIfsia fafer & R et 22

Form the following transactions of Mr. Sunil prepare the Bills Receivable Book —
Frer ot 7 TemTeT & off gt b s fore st s

2010

Jan 8 Drew bill on X and co. at 2 months for Rs. 2000.

Jan 10 Bills at on emonth for Rs. 2500 drawn on prahlad and co.

Jan 15 Acceptance received from Shyamlal at 3 months for Rs. 1750.

Jan 20 Pritlipal gave his acceptance at one month for Rs. 5000.



